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(1] S% = {(z0,21,22) € R¥ |22 + 22+ 23 = 1}000. 000, F : §2 — RSO
F(xg,x1,79) = (22,23, 73, 1071, 1172, 79m9) 0000000, 00,000 nOO
0O, PrO S" = {(z0,...,2,) € RV 22+ - 422 = 1300000 = ~ y
<— y=+x00000000000 P*=S"/~000. 000, S"00 R
oooo00o0oo, p, : S — PPO0O0OOOOOO, 2,y € S70000,
d(pn(2),pu(y)) = min{lz —y|, [z +y|} 000, PrODOOOOOO0O.

(1) FOOO f: PP—RO0ODO0O0O0DOOOOO.
(2) FOOODOOO f: P2— PPO0OOD0ODO0OOOO.
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WH={feVv*|000weWwWOOOO, f(w)=0}.

0000, wiov:oooooooo, dmWi=dmV-dmWOOOOOOOO.
(2) W,,W,0 VOOOODOOOO0. 0000, (W, +W)t=Wwinwiooo.

F(x,y):t(%y,g)ﬂRQDDDDDDD,a,bDDDDDD,DCRQDDDDDD
ooooooooa.
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